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College English Test 1
(Band—4)

Part | Listening Comprehension (20 minutes) _
Section A
Directions: In this section, you will hear 10 short conversations. At

1. A
B.
C.
D

2. A.
C.

3. A
B.
C.
D.

4. A.
C.

5. A
B.
C.

the end of each conversation; a question will be asked
about what was said. The conversation and the question
will be spoken only once. After each question there will
be a pause. During the pause, you must read the four
choices marked A, B, C and D, and decide which is the
best answer. Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.

. Take her to the airport.

Repair the typewriter.
Type for a few minutes.

. Take the report to a typist.

$29 B. $50
$25 D. $30

. Try to find out how much water should be put in the soup.

Try to make the soup.
Try to read the man’s book.
Try to pour the eater.
5 B. 3
2 D. 8

: go'.walking with her friend.

rest and take care of herself.

stay at home and do her exercises.



D. catch up with her reading.
6. A. A bicycle. B. A game.

C. A shirt. D. Baseball shoes.
7. A. By car. B. By bus.

C. Standing up. D. No, he doesn’t.
8. A. It’s more direct.

B. There’s a traffic jam.

C. It’s faster.

D. It’s less expensive.
9. A. He is too young to ride a bicycle.

B. He is a bad child.

C. He is too young to follow the safety rules.

D. He is too stupid.
10. A. In winter. B. In July.

C. In September. D. In April.

Section B

Directions: In this section, you will hear 3 short passages. At the

11.

12.

end of each passage, you will hear some questions. Both
the passage and the questions will be spoken only once.
After you hear a question, you must choose the best an-
swer from the four choices marked A, B, C and D.
Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.

$ 15,000. B. $ 500,000.

$ 5,000. D. $ 150,000.

Both flights landed in a wheat field outside Paris.

Both were flights across the Atlantic.

Both flights took several days.

Both had made unsuccessful attempts on the route before.

The three Americans met with a lot of difficulties during

_2_



their flights.

B. Lindbergh carried his transatlantic flight in 1927.

C. The Americans covered 3,200 miles in their flight.

D. Charles Lindbergh was the first to make an effcrt to cross
the Atiantic in a balloon.

14. A. Hot and moist.
B. Hot and dry.
(. Cool and moist.

D. High and cool.

'

15. Rolivia has a very short coastline.

B. Ypanish congquerors came to South America more than 300
years ago. '

The highest mountain in Bolivia is 13, 000 feet.

About half of the Bolivians live in mountainous regions.

16. 759%. B. 90%.
10%. D. 50%.

17. Bolivians are very interested in business.

Bolivia is a trade center in South America.

All the white peopie in Bolivia migrated from Europe.
Iocal residents there are at a lower rank in society.

The Greeks. B. The Romans.
The Egyptians. - D. Not mentioned.

18.
19. Glass was once made for decoration.
People used glass to make telescopes.
‘Giass was first used to make spectacles.
Glass was first used to make bottles.

20. Glass-making. B. Window decorating.

CPUORPOPIORPOPDO

Pottery-making. D. Painting.

Part Il Vocabulary and Structure (20 minutes)

Directions; There are 30 incomplete sentences in this part. For each

__3_



21.

22.

23.

24.

26.

217.

sentence there are four choices marked A, B, C and D.
Choose the ONE answer that best completes the sen-
tence. Then mark the corresponding letter on the An-

swer Sheet with a single line through the centre.

In many families, the father has the highest and au-
thority in family affairs.

A. privilege B. status

C. state b statue

Early application did not Recegsarily you to gain ad-
mission to the company .

A. prompt B/ entitle

C. register D. lead

Would you like to some wood to the fire? It is going
out.

A. enclose B. apply
\C. add D, attach:
You only paid eight hundred dollars for this second —hand car?
That was a real
-A. bargain " B. cheapness

C. discount D. deal

In the Navajo household, grandparents and other relatives play

roles in raising children.

A. crucial - B. indispensable

C. bound =% 3%  D. doubtless

Just as solar*energy will never /\\ so atomic energy will
pum———

never be exhausted. ’

A. run over \B. run out

C. fall out D. break off

Our doctor has an excellent for being good with

poverty stricken children.
A. repetit'igiﬁl C. authority

__4_



28.

29.

31.

32.

33.

34.

P

B. reputatlon D. popularity
Whether you go there by way of Shanghai or by way of Beumg
is completely you yourself.

A, due to B. subject to

] : ) é LA
Clp to D. prior to & - <™

=
'f‘UpTC'S for conversatlon should be~ ’ ~ to the experiences
and interests of the participants. RN I
. 3 B89, 3%

A. subject B. relevant LIS
C. attached “ D, corresponding ' 73753 AL ®

After the War of 1812, the United States was far less
on Europe for its manufactured goods.

A. depressed K ’Jlﬁ‘ (B. dependent

C. relied o l‘;ﬁ D. requested

In the bank he changed his pounds for the amount of
dollars. AL

A. approximate B. identical

C. similar D. equivalent i (

The difficulty that the leaders have to is that they are
short of trained manpower.

A. submerge B. submit

C. get over D. get down

Our manager is a bit stulzbor_n, but he is quite quali-

fied for the present post.

A. instead B. nevertheless
C. yet .D. otherwise
Chinese farmers are earning __money per capita today

as they did fifteen years ago.
A. more than twice

B. more than twice as much
C. twice more as much

D. as twice



35.

36.

37.

38.

39.

40.

41.

Where is the sense if nothing ever comes out of it?
A. of merely protesting

B. in merely protesting

C. to merely protest

D. for merely protesting

It seemed to me that the main requirement of an international

language was that it easily learned.
A. must be B. be
C. were D. is -

Fe
man can now create radioactive elements, there is

nothing he can do to reduce their radioactivity.

A. While - B. As
C. Now that D. When
It is not the consciousness of men that determines their exis-
Itg}‘?eesk lbut, , their existence that determines their
consciousness.
A. to the contrary B. to-the opposite
C. on the contrary D. in contrast
food is to man, that iron and steel are to industry.
A. What B. As
C. Like N D. So
Isn’t it about time she to get down to some business?
A. began ' B. begins
C. shall begin D. begin
I can remember where I have put it, I will lend it to
you. . o /\ // A
A. Only if B. If only /’}‘// \e NV
C. Seeing that D. Given that f;manil
. The picnic had to be held in the gym . the heavy rain

which really Aspoiledt it. ;
A. as a result SEOe

._6__



43.

44.

45.

46.

47.

48.

B. on behalf of '

C. on account of 7} \

D. regardless of £ 5* B L s N

At tie last meetmg, the proposal was adopted that the club
/ open until after school < up. <

A. not be ++ breaks

B. be not *** break

C. do not be *++ breaks

D. should not be break

America will never again have as a nation the spirit of adventure

as it before the West was settled.
A. could - ﬁ, _was
C. would (D. /did

Dorothy hasn’t jﬂ able to attend our gatherings the last few
days; she tied up. thh some work for family.

A. must have been

B. has had to be

C. was to have been

& had to be

No sooner had he signaled to turn ) the other car

turned in front of him.

A. when B. before

C. as D.. than .

Shyness is a common nature of human beings, '/, only in
degree.

A, differed B. it differs

C. differs D. differing v %)

This organization may succeed marvelously in what 1t wants to
do, but what it wants to do may not _ 1mportant

A. be all that B: be that all

C. all be that D. be this all



49. When Europeans originally arrived in El Paso,
Texas, the area was inhabited by the Manso and Suma peo-
ples.

A. what is now

B. that is
C. somewhere
D. which becomes of
50. T will that your son takes a keen interest in the sub-
ject.
A. see into B. see to
C. see about D: see to it

R LA
Part lll Reading Comprehension (35 minutes)
Directions: There are 4 reading passages in this part. Each passage
is followed by some questions or unfinished statements.
For each of them there are four choices marked A, B,
C and D. You should decide on the best choice and
mark the cgﬁirgspgrrlding letter on the Answer Sheet

with a single lirle through the centre.

Most people agree that taxes must be paid..- Government
couldn’t run without money. So people don’t argue against taxes.
They just argue about how taxes should be collected.

At present, the federal government works with a “progressive
tax. ” The tax covers a percentage of people’s wages. Not everyone
pays the same percentage of his salary in taxes. Taxpayers fall into
different “tax brackets” depending on their income. Poor people are
in a low tax bracket. They pay the smallest percentage of income in
taxes. Middle income workers pay a larger percentage than the
poor, and the rich fall into the high tax brackets. Few rich people
like the progressive tax.

__8__



The government took a poll. Among other people, the govern-
ment talked to Ray Mathews and Eve Winick.

“Let’s change to a flat rate tax,” says Ray Mathews, “Every-
one should be taxed the same percenfage. It’s fair. And it’s easy to
figure out. ” Mathews is president of Trig Computer Company. He
makes over $ 80, 000 a year.

' “I don’t want a flat rate income tax,” says Eve Winick.
Winick is a grammar school teacher. Her school is in a poor neigh-
borhood. She makes $ 14, 000 a year. “I don’t care if it’s easier to
figure out. What I want to know is, would I pay less tax?” Winick
worries about her students’ parents. “Some of them can hardly sup-
port themselves. Why should they pay heavier taxes? They’re the
people who need government services. ”

Mathews thinks a flat rate would help in the long run. “The
country could lower taxes after a while. See, if I paid fewer taxes,
I'd save money. I’d put that money into my business and hire more
people. Those people could pay taxes. Everybody would be better
off.”

51. Which of the following statements BEST expresses the main

idea of the passage?

A. The progressive tax covers a percentage of people’s wages.

B. The flat rate tax taxes everyone the same percentage.

~C/ There is a debate over two different types of taxation.

D. Ray Mathews and Eve Winick answered a government

poll.

52. It can be inferred from the passage that those presently sup-

posed to pay the highest percentage of income tax are

\ 6/ the richest
B. the middle class
C. most people



D. the businessmen

53. An unstated reason Mathews likes the flat rate tax is that

(}/. it is easy to figure out

B. it is fair
.G, he probably pays heavy taxes
D he is poor

54, You can infer that Winick does not want a flat rate tax because
\@(. she might have to pay more taxes
B. she is rich
C. the flat rate tax is hard to figure out

D. the flat rate tax is unfair to the rich
55. In the last sentence of the passage, the phrase ” better off”
means
A. in a worse condition
B. wealthy
C. dding more than expected

D. in a better condition

The progress of research into aging, the common condition of
mammals from mice to men, has led same scientists to believe that
someday they may be able to improve the miseries of old age, and
even perhaps to stop the biological clock. '

The present state of gerontology (stiil a young science) was
laid out recently in a series of articles in the journal BIOSCIENCE.
Evidence was cited suggesting there may be a centrally located pace-
maker for life. There was also datg indicating’ that an aging clock
may lie hidden in the nucleus of each cell.

Candidates for the role of pacemaker include the hypothala-

mus, apart of the brain, and the thymus, a gland in the upper



